BC Calculus – FDW 3rd Edition – Section 7.4 Even Answers

Quick Review 7.4
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(c) 20.036
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 (b) Only one. We have the derivative and the function value at one value of x.   
22. 6   
24. 538.422   
26. 2.1089   
28. 1.623
30. The sum of the 
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 as the norm (or mesh) of the partition goes to zero is always ‘b-a’, the interval length.   
32. False. The function must be differentiable.   
34. D   
36. B   

38. (-19.909, 8.410)  
40. Yes. Any curve of the form: 
[image: image21.wmf], where  is a constant.
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